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I 1 mwn: multiple m5n7 and multiple first-births
a  If:he had 2 mYnn that hadn’t yet “opened their womb”
i If: each birthed a 151 — both go to 1n3
ii  But if: one was male and the other female — only male goes to jn3
iii ~And if: there were 2 males and one female — one male goes to jn3
1 v”r the 102 picks the better one
2y’ omra pinvn
3 And: the other grazes until it gets a o
4 Then: when slaughtered, miann must be given to jn2
(a) Dissent: "ov "1 — exempt from mann
5 If: one of them died
(a) v they divide the (value of) the other
(b) »”r. we employ the rule of n"ynn > the jn> gets nothing
II  n mwn: continued presentation of rulings with multiple m>m1 and multiple births
a  If: he had one Ynn that had never given birth and one that had
i if both had males, but we don’t know which — one goes to jn2
1 v”r the 1no picks the better one
2 p”r Dra pinvn
3  And:the other grazes until it gets a o
4 Then: when slaughtered, miann must be given to 1n3
(a) Dissent: 101 "1 — exempt from mann
(b) Reason: 'ov "1 says that anytime its “replacement” is in jn3’s hands, it is exempt
(i) Dissent: ™1 says that it is 20 even if 102 72 P25n
5 If: one of them died
(a) v they divide the (value of) the other
(b) y”r we employ the rule of n”ynn > the 103 gets nothing
ii  If: one was male and the other female, 113 gets nothing
b Justification: (for repeat of disputes y"1/0™ in n,r 1 mwn
i If we only had n mwn, we would have thought that y™'s reasons is just because both were born from 1 animal,
doesn’ t prove that fatter one came out first,
1 But:in " mwn, where they came from 2 mn, the male that came from the “solo” birth is probably fatter
2 And if: we only had "1 mwn, in that case, neither n7 had birthed yet;
(a) But:in'n mwn, he may have assumed that the fatter one came from the “first-timer” - %"np
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I v mwn: status of first-born via C-section and the next one comes through birth canal

a

b

v”1. both are 7132 pav - both must graze until they get a 1 and then can be eaten by owners (nothing to jn2)
y”1. neither is a 1122 pav
i The first: didn’t “open the womb” (i.e. birth canal)
ii ~ The second: wasn't first
Point of departure: where do " and v disagree?
i v”rholds that a 1131 for one thing (e.g. first male) may be 71321 for another (1122 nvYTP)
ii 77 holds that first male doesn’t make it 1132
N11792 (from 072772 117147, above in box): the example given (in YRynw? '37 X3, the introduction to 0?03 nin) of 5%
5935 IR RINY V19) VIY PIX XINW — when a specific item cannot be properly understood without the 953 & vice-versa
i w77 is the %95 — but without 757, I would have thought that females are also 1132 = we need 757 (v19)
1 But:if it only said 757 (the v18), I would have thought even if it follows a female - we need 77 702 (#2079)
2 And:ifit only said pm7 709, I would have thought even after 1917 X1 2 we need 7132 (593)
it Analysis (77281 ¥’227® 77): note that "1132” is not invoked in first clause, only at end
1 Implication: in first clause, they regard Tn& 9275 1132 as full 1133; but not at end
2 Answer (7a8): they always consider TnX 721% 2132 as just that — and not hwyTpY 7122
(a) &1 "1 alone would allow for C-section = states "nn7 708” (must go through birth canal)
3 dissent (X¥2227): this Rin consistently holds that Tnx 9279 M2 is a full M2
(a) And: oo should be understood as follows:
(i) If: we would think that one coming out after 19v7 v is W11, why would the n7in write "132”?
1. If: used to eliminate a case where female came first — "Dn1 7v9” is sufficient
2. rather: it must be there to cover a case where 1917 R¥1 came out first —
(b) challenge (21970 ¥n& “7): if 1132 0 TR 7279 N2
(i) then: that works when both first (1917 X¥1) and second (on3 777) are males — excluded as the 274 one
is not 0219 M2
(ii) but: if 1977 ¥V is female and then a male comes out nn1 777, should be v11p as it is 021 M2
1. Rather: »ar’s analysis and c onclusion are the correct ones (8127 is refuted)

© Yitzchak Etshalom 2019 10 www.dafyomivicc.org




